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B.Tech., IV Semester
Examination, June 2023
Grading System (GS)
Mathematics - II1

Time : Three Hours
Maximum Marks @ 70

Note: 1) Attempt any five questions.
fas=t aie et @t g1 P
11} All questions carry equal marks.
Tt wet & 99 i §

iii)In case of any doubt or dispute the English version
question should be treated as final.
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1. a) Find the real root of the equation x* —3x — 5§ =0 correct
to four places of decimals by Newton Raphson method.

RIS XH faftr 1 s v g AR e I O
TR x* —3x-5=0 ¥ arafiE T A By
b) Evaluate

qH, g1a Hirfee

ACax —1)(bx® —=1)(cx’ —1);h=1
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a) Using Newton's divided difference formula, find f(8)ang

/(15) from the following table.
3= & ARG e 3 B I9AM TP, Py aifare o

7(®) 3R £(15) @
M 4J 5]?_1_1_0_ 11 13
Fo | 48| 100 | 294 [ 900 | 1210 | 2028
by Find the real root of the equation xe™ —3 = 0 correct to
three decimal places by Regula Falsi method.
WA Wil xe' —3 = ﬁﬂﬁaﬂmﬁﬂﬁﬁ?ﬁ:{ St o)
@l o 9= sna Hiferw
Use Stmpson’s 1/3 and 3/8 rule to evaluate the following.
o=
0]+ x?
Hence obtain the approximate value of 7 in each case.
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b) Compute the value of the following integral by trapezoidal

Rule.
grazeA Fram grr Fr=ififRad ammeetor 3 ST &t oA R

quvz (.S'm.r-— log, x+e )dr
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a) Solve the following system by Gauss Siedel iteration

method.
T Riger gere fafty g witesur e @t gor HIR

27x + 6y — z=85
6x + 15y +2z2=72
x+y+54z=110
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7. a) Evaluare

'b) Use Simpson’s rule to find approximate value of the
following integral. o= g FHfam
Ryt 7w &1 gl et U TSIl &1 |ispe A1 S [
Hfr ' L
(1+5)
2 dlx
v b}  Fvaluate
a9 gna o
5. a) Use Euler’'s method compute the solution of f—{-":f' ":}
dy _ 2 2 - -
E =y —x" with {0)=1atx=0.1. & a} Find mean of Poisson distribution.
e faftr @7 S FRA §Ux = 0.1 R p(0) = 1 & Y oS fEERe & Feg T i
& 2 b}  Wnite Short note on Exponential Distribution.
-d—r=y —x? & 99 T I £ 2 o) i Pt B
b) Use Euler’s Modified method to solve the equation
L E L L L

dy _ x+y, {0) =1, k=02 compute y(1)

dx
%=I+y,y(n)=1,h=ﬂ-zannm=ﬁa‘rmgﬁﬁaﬂ
TN &R €Y (1) T A 1 HR

6. a) Use Laplace transform to solve the Initial Value
Problem. hrtps://www . repvonline.com
ARPNF G TR Y B A D AU AR Hia=0T 7
9T
»+2y=26sin3¢, y(0)=3
b) Ewvaluate
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